  * Greedy Algorithm

      -- At any stage, choose the "locally optimal" solution

         -- Greedy 方法一定可找到 feasible solution

         -- Greedy 方法不一定能找到 optimal solution

         -- examples:

              Coin Change problem

              Dijkstra's Shortest Path Algorithm

Kruskal's Mimimum Cost Spanning Tree Algorithm    
Coin Change problem

    1 cent (penny), 5 cent (nickle), 10 cent (dime), 25 cent (quarter)

     如何把要找的錢用最少的 coins 組成?

     For example, 63 cents ?
     ==> Greedy 方法不一定能找到 optimal solution?  例: 如果有 21 cent coin
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Dijkstra's Shortest Path Algorithm (以下假設有五個node, 編號1到 5 )
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   V = { 1, 2, 3, 4, 5 }   // 如何表示 set ?  hint: 可以用 array

   S = { 1 };  // 要找出 node 1 到各其他 node 之 Shortest Path : answer
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   for  (i=2; i <= n ; ++i)  D[i] = C[1, i];

   for  (j= 1; j <= n-1; ++j) {

      choose a vertex w in  V – S such that D[w] is a minimum

      add w to S

      for each vertex  v  in V-S do

          D[v] = min( D[v],  D[w] + C[w, v] )

   }   // How to reconstruct the PATH ?    Hint: 用另一個 array 

Kruskal's Mimimum Cost Spanning Tree Algorithm
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